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Q1(a)

So“*h&

Section A : Power Systems

Estimate the corona loss for a three-phase, 110 kV, 50 Hz, 150 km long transmission line
consisting of three conductors each of 10 mm diameter and spaced 2.5 m apart in an
equilateral triangle formation. The temperature of air is 30° C and the atmospheric
pressure is 750 mm of mercury. Take the irregularity factor as 0.85. Ionization of air

may be assumed to take place at a maximum voltage gradient of 30 kV/cm.
[12 marks]
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Q.1 (b)

Selustfon

A power plant has three generators feeding a common bus:

2 generators, 30 MVA, 15% reactance each

1 generator, 10 MVA, 12.5% reactance
A 10 MVA transformer steps up the voltage and feeds a 33 kV circuit. Find the safe
minimum reactance of transformer so that fault level on the secondary bus of the
transformer may not exceed 100 MVA.
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Q.1 (c)| A power plant has 3 units with the input output curves.
Q, =0.002 P,? + 0.86 P, + 20 tons/hour
Q, =0.004 P,> +1.08 P, + 20 tons/hour
Q, =0.0028 P,> + 0.64 P, + 36 tons/hour
Fuel cost is Rs 500 per ton. Maximum and minimum generation level for each unit is
120 MW and 36 MW. Find optimum scheduling for a total load of 200 MW.
[12 marks]
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Q.1 (d)

"C el

Tworelays R, and R, are connected in two sections of a feeder as shown in figure below.
CT’s are of ratio 1000/5 A. The plug setting of relay R, is 100% and R, is 125%. The
operating time characteristic of the relays is given in table.

The TMS of relay R, is 0.3. The time grading scheme has a discriminative margin of 0.5 s
between the relays. A three phase short circuit at F results in a fault current of 5000 A.
Find the actual operating time instants of R, and R,. What is the TMS of R,?

PSM 2 (458|121 20
Operating time |10 | 5|4 |3 | 2.8 | 2.4
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Q1 (e)

&o\u_iii}‘

GTIN L'téfﬁﬁa ® (TMSRQ XGop Rs fox Pra SP0- L\)

= o~ (TMS) g X5

:k? @MS‘)RQ = “7/5- = 0-BY @rm) 6\\4

N

(\

\

\

What is the percentage copper saving in feeder if the line voltage in a two-wire dc system
be raised from 220 V to 500 V for the same power transmitted? State any assumption

made.
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A generating station has four identical generators, G,, G,, G, and G, each of 20 MVA,
11 kV having 20% reactance. They are connected to a bus bar which has a busbar reactor
of 25% reactance on 20 MV A base, inserted between G, and G, as shown below. A 66 kV
feeder is taken off from the bus bars through a 15 MVA, 11/66 kV transformer having

7.5% reactance. A symmetrical 3-phase fault occurs at the high voltage terminals of the
transformers. Calculate the current feed into the fault.

EAL,

LV side 5%

HV side’%ﬂ‘ T fa6 20

Feeder

[20 marks]
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Q.2 (b)
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(i) A system consists of two plants connected by a transmission line as shown in figure
below. The load is at plant-2. The transmission line loss calculations reveals that a
transfer of 100 MW from plant-1 to plant-2 incurs a loss of 15 MW. Find the required
generation at each plant for A = 60. Assume that the incremental costs of the two
plants are given by:

'}
2p, = 0:2P, + 22 Rs/MWh

dc, |
E =0.15P, + 30 Rs/MWh
Transmission
@ I line 1__: @
G G
Load

(i) Find the savings in Rs per hour by scheduling the generation by considering the
transmission loss rather than neglecting the transmission loss in determining the
outputs of the two generators. Assume a load of 285 MW connected at bus of plant-2.

[20 marks]
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A 50 Hz, 3 phase transmission line 300 km long has total series impedance of
(40 + j125) ohm and a total shunt admittance of 10~ mho. The receiving end load is
50 MW at 220 kV with 0.8 lagging power factor. Calculate the sending end voltage,
current, power and power factor using:

(i) Short line approximation.

(i) Nominal n method.

(iii) Exact transmission line equation of long line.

(iv) Approximation of long line.

Jwen 2= 130 24K 722502 [20 marks]
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A 275 kV transmission line has following line constants :
A =0.8525°% B =200£75°
(i) Determine the power at unity power factor that can be received if the voltage profile
at each end is to be maintained at 275 kV.
(ii) Calculate the value of compensation required for a load of 150 MW at unity power
factor with the same voltage profile as in part (i).
(iii) With the load as in part (ii), what would be the receiving end voltage if the
compensation equipment is not installed?
[20 marks]
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A 100-MVA, 13.2 kV generator is connected to a 100 MVA, 13.2/132 kV transformer.

The generator’s reactances are X, =0.15 p.u., X,/ =0.25 p.u., X;,=1.25p.u.ona 100 MVA

base, while the transformer reactance is 0.1 p.u. on the same base. The system is operating

on no load, at rated voltage when a three phase symmetrical fault occurs at the HT

terminals of the transformer. Determine:

(i) The subtransient, transient and steady state symmetrical fault currents in p.u. and
in amperes.

(ii) The maximum possible dc component.

(iii) Maximum value of instantaneous current.

(iv) Maximum rms value of the asymmetrical fault current.
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Q.3 (c)

Qo\uﬁg__r

Find the critical clearing angle for the system in figure for a three phase fault at the
point P. The generator is delivering 1.0 p.u. power under pre-fault conditions.

j0.15 , j0.15

E j0.28 %

j014 p j0.14

j0.15 / j0.15

Infinite
bus

j0.17

[E'|=12pu. V| =1.0£0°
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Q4 (a)

A dc source of 100 V with negligible resistance is connected to a lossless line (Z-= 30 Q),
through a switch S. If the line is terminated in a resistance of 90 Q, on closing the switch
at t = 0, plot the receiving end voltage (V) w.r.t. time until 5T. Where, T is the time for
voltage wave to travel the length of the line. What will be the steady state voltage at

receiving end? Also find the voltage at f = 3.25T on the mid length of the line.
[20 marks]
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Q.4 (b)

Determine the inductance of the double circuit fully transposed line shown in figure, if

the self GMD of each conductor is 0.0069 m.

55m

(P

Im

Q-

A/ I "o’
0.5m 0.5m

3m

®

55m

[20 marks]
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Q4 (o)

A single line diagram of a system is shown below:

1

j0.2

2

©-38

j0.25 015

|

—O 1£0°

j0.1

3

I jo1

All the values are in per unit on a common base. The power delivered into bus-2 is
1.0 p.u. at 0.8 p.f. lagging. Obtain the power angle equation and swing equation of the

system. Neglect all losses.

[20 marks]
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Q.5 (a)

Pelutios;

Section B : Electrical Circuits-1 + Microprocessors-1
+ Digital Electronics-2 + Control Systems-2

Find the current i, i,, i, and power delivered by the sources of the network shown in
figure.

[12 marks]
Rec “mmﬁfﬁ the crceat
oW
6 % \
‘-\ . h"“%_, + - E,
1% 1o F_—‘Q—/ \\3
A G A } t
ki ade ‘Pocda'f dleliveved ?
b,% S sced T

fealy  yig=Yy

h o= m)x te. « 12 x |2 = 90

6\ / 6+ 6x 12 6 +12
C+1 —

R

i i[';QQ /@
Be = (R N

N o I o I
AL Nodeb—tr o=t
Nowy K\l Hfg - Y- o0 ™ ofa ‘5(\«( =46
- - EE! =20
PESIYTa\

B~
—-.*_‘;_\
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Q.5 (b)

Sc\\kﬁﬂ

Determine the rms value of the waveform. If the current is passed through a 9 Q resistor.
Find the average power absorbed by the resistor.

i(Amp)
10+
073 o o 8 10 Heex)
-104
© & Q {
b A by [12 marks]
= Y rq > (e
Fo
s v ¢ g ' eteady | £ 7, ave
— e ‘3
l =¥ ( ‘ Oxthegqena\ Ao\
=g [© = Lﬂ S 300 @
qQ
P'rom\ I ) L UD)Q
2x3 N
foell  Ppectotal (o “lp 200f5

Now RS \ratueéf \r\m\re‘fom

KM ‘fa‘“e/”g wa\ e Coym B

¢ Q (21653 9

avq ( absorhed by Resishoc) = /95/ i
g il B

B
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Q.5 (c)

A third order system has state space model matrices as follows:

1 3 1 0 ,
A=|0 1 0f; B=|0; C=[1 1 0]
2 4 6 1

Determine whether the system is state controllable or not. What will be the output
controllability of the system?

.. [12 marks]
Te chec e Controllability

—

kalmee't Tert & = C@ A F)QBJ

A_B = { 5 ‘ 6 I
o 1 O o & )
% +% b : C
Ix D 31X
A8 A8 - L2 . 79
B L & © == 6
&2 =Y G P 72
& Q= & | 7
(0] O o
r & 29

c\ca% \®) =6
. abeve SESA’JR‘W\ i Noo~Z contrellable Sa—(’lrexw

e
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Q.5 (d)

So\y H4

DAC.

(ii) For the 4-bit weighted-resistor DAC shown in below figure. Determine the weight
of each input bit if the inputs are 0 V and 5 V and also determine the full-scale output,
if Rf= R =1KkQ. Also, find the full scale output if Rf is changed to 500 Q.

R
(MSB) D, o——MM——— —JWRWﬁ
DZO—‘\%ARN— = '
AR —o V/,
D, o—MWW— -
8R =
(LSB) D, o—WW—— ~
12 marks
L L&Y Hefﬁh-’fed\ Rel\stor ;(_‘(P:DQC [ !
P 2 >N
J . 2R
di ..5__“\”‘)—" 5 L_E
Ta Uk ! Vo
a4 T
— A e D
T e |
d- a.;..r\r\’\-——- =
L\I,Q “f” Al= | Now T = 4Xs 4T3 4 T
oR GNp (f 47=© -
4 4 - NRAZ | Vgdr 4 Veds ¢ yedo

“ ST LYY

Nows Vo'—d‘pu\— =-THRe

o VO!P S VQR(’“
o

tolrexr 1 o élg\b‘ e c\“gl%\ ‘[P

< de c;rm\ Qﬁm’\ra\eﬁ*‘ d a\‘t(d‘\;‘a\ Vp)

@?“")e L SR ReslSter

(i) With a neat block diagram, explain the operation of 4-bit weighted-resistor type -
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48D

Q5 (e)

)

(ltt)

Pf, ips ave ov aod sV
oelght & ba BT 'R}f—E‘ 2 Sl B

B> bt = \Ir

2R f = by
Slotk = UR cpp = rasv g
YR
Db+ = YR xR = © 625V gy

@DIP) FUll feale — R (QF> [decjmq\ inpuj ef;_uf\ralf’r\'f-j

= (v + 5+ 25 4128) QQ”LSV By
U

Explain the generation of control signals for memory and I/O devices of
8085 microprocessors?

[12 marks]
Control Srall  Foe roernse And Tle
() g
(f{ MEnR [ e ma‘ra Reac
f rmeR t o = m@nery read ope<atan taver plate
pMEmR 1 2 Alralled

MQMN . memog wnh @Pemh‘an /

(\P\E_mw 1 = meﬁnoﬁ wm*‘? OPVFQ*‘T%)V\ +O(€J F"C"Ce
Mroty vl o= dyabled

ToR ' Tlo device wead @ P¢ rafon

ToR o - Eoabled

\ ‘ GQ\‘MUec\
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Q.6 (a)

Sol u-h_“_q_n

(i) Figure below shows the waveform of the current passing through an inductor of
resistance 2 Q and inductance 2 H. Find the energy absorbed by the inductor in the
first four seconds.

i(t)
12A

6A

0 t
\ [12 marks]
Clscuy Avgwx
g 85
é{)?(n
Now Ceon  Xz0 4 +=2Llcc
14 = constact = €A 200 L Shected

o o

ivaleat elbecantt o
e@uvaer?\' Tt C%Gﬁ

|

t-€negy cdoserbed ‘cakAucM fn Batt 9 Ceeendy = O

Troen X=2 Secdo d=Ulec

fl_(&") ‘-TL(‘)_‘*U + GBA

Now  encepy Chosred '8 pductor i (240 4) Sec

L\
@"E’% = J VLTLC)‘P /
1]

= “J taf $ 4t
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4
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Q.6 (a)| (ii) Find the current I in the circuit shown below using the superposition theorem.
2Q
© 60 [ 8Q
8V 2A ( % )6V
2V Souxce [8 marks]
& 2 L 8
Selutien| —ArA—— A~y A
I = __L - 054
&y @+6+2
DQH\Sou'(Qﬂ “1 T
¢ f\Q_"_ 8 ) AR
gy > Aan 2
3s A 1R
= 26
26
g = 2% 2 -1 0
\ 6 Y
Evlouxce
2 o
oo &
An
T - - 6 %
c L :}”“—( 3 2« Zlen
S G C+2+8
i J

2. % Juyemo@d—?e; T ferscrre

\ L=hehiag =3y ﬁ‘m
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Q.6 (b)| (i) Assuming both the voltage sources are in phase, find the value of R for which
maximum power is transferred from circuit A to circuit B.

-------------------------------------------------

| 4 I R
1 AA L1 AAAA !
: vy R ALAS |
" B -
120V e (Dev
Circuit-A E i Circuit-B
le ad

[12 marks]

Colurtol A Max povoer T‘"“N-;?E‘f_
Ve QJets AfvA ed eq:\a\g bl Ry L (oad

Rere, tetr checut B8 @ lOPP

Now C\eo(‘(LJ \Pol-L%,Q cwxost = (o~ 6 =Yyw

Cuevent %regh R= = SA

o R = Y w %6 Sk

—

| =25 b

1
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Q.6 (b)

Sot uNen,

(ii) Determine the voltage ratio V_ / V. _for the circuit shown below:
Tin 0w W 50
T 7— MW\ MM To T

Vin >30Q 6Q Vo

Lr |

AAAA

v

AAMA, 2
vwyv s

Zio= to+ B[t =173y N
_’_,‘i‘%n - \”n - t"‘\{ Fh ﬁ
Zin \ 13
K
e o = El"ﬁ X 3
b
Te = 3 Ve
192 4
NOL W Voubk 6 X 3Vin
\Fin | R _ ...{__9__
N |73
\ri?LkX\_ S \0 \1 -~ ri}
r\‘h l73

[8 marks]
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Q.6 (c)

olutn

Obtain the state space model considering current through the two inductors and voltage
across the capacitor as state variables. Consider the output variables as current through
R, and voltage across R, and input variable as ‘¢’ as shown in figure. (Consider initial
conditions to be zero)

L
Kow U = 6, [10 marks]
e v
xe = Kf ;( - Kl Il‘
Xe Il ’ Xo = I;L)
‘K 3 \fL Kj Ve
Ctm\*d\‘%j'rgt:) + LoTo

R,

[w]
Ay nade b, koo Ti+Xy + CVe = ©
= "-Ir %.tﬂ
\fL\n\ao

-L|I, +Ve e LR =0

S5.LT, = € —Ve + LRy

]

=) Ve —e- IR = &L =) X X
\

\!




MBDE ERSY Question Cum Answer Booklet

|

Page 42 of 58

Do not
write in
this margin

(3]
Inloop2 kyL, d4taTy + Lo —Ve =O
T, = -DoR + Ve
L2 L2
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Now = te = Tm = Ko
Y&‘~ Vo= IsRq = RaXo

Mow  Mdate J‘?O\(é’ mma!e)

’Sf EQI/L| = VL, ¥ -~
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3 VC_ B l/c, O '}(‘3
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Q.6 (d)

\uhf

Two impedances Z;, =5 Q and Z, = (5 - jX)Q are connected in parallel and this
combination is connected in series with Z, = (6.25 + j1.25)Q . Determine the value of
capacitance of X to achieve resonance if the supply is 100 V, 50 Hz.
[10 marks]
p %3
o D—Zb—\——w
S M
& =
oW Za8 - ‘23 4+ Zy l (29_
S+5 -JXe
‘«CG Qg.H.g_SD + @5 59X ( te + %)
(Yo JXO) (16 +Jxe)
(= . y \ . -
G 25+ 25] + {‘ " o 310) +j:25)<'c, =3 SO'KC_J
U"O) + Xe
+ SXci]

NoW fox Retornance
LZQE‘) =0
> (a5 + | C‘“QSXC) = 6

(oey™ ¥
=y %8 = 855Xc

\000 + Kcl
D 1254 925X - 25X = o
L éotvm& Xe = los

nowd <L e > .—U
It AFrX SO X (6

E= BRLE | oo




MRDE ERSY Question Cum Answer Booklet

|

Page 44 of 58

Do not
write in
this margin

Q.7 (a)

(i) Clearly differentiate between latches and flip-flops.

[8 marks]




MADE ERS4Y Question Cum Answer Booklet

Page 45 of 58

Do not
write in
this margin

Q.7 (a)

(ii) Realize T-flip flop using D-flip flop.

[12 marks]
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Q.7 (b)

(i) For a control system, the input output transfer function is given below:

Y(s)  bps"+bs" 4. 4B, 45+b,
U(s) " +as" " +as"a, s+a,

Construct a state diagram by direct decomposition using the first companion form.
Use state diagram to obtain dynamic equations and state space model.

(ii) Obtain the second companion form for the system whose input output transfer
function is given by,
Y(s) s> +4s+1
U(s) s*+3s*+4s5+8

Draw corresponding state diagram for above form and derive state space model for

above system.
[20 marks]
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Q.7 (c)

Write short notes on their individual functionality?

() Write an assembly language program for an 8085 microprocessor, to find 2’s
complement of a 16-bit number. Write comments for selected instructions.

(ii) Enumerate all internal registers present in 8259 programmable interrupt controller?

[12 + 8 marks]
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Q.8 (a)

e

A control system employing proportional and derivative control as shown below, has
damping ratio equal to 0.8. Find the time instant at which the step response of system
attains the peak value. Also find the percent maximum overshoot of system.

R(s) J(%)- 1+Kgs [~ -5(5—161?) C(s)

[20 marks]
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Q.8 (b)

Design a 3-bit gray UP/DOWN synchronous counter using T-flip flops with a control

for UP/DOWN counting.

[20 marks]
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2.8 (c)

A control system is represented by the state equation given below,

x(t) = Ax(f)
—26'*} when x(0) = [_2) and x(t) = (_E_QJ

If the response of the system is x(t) = (

1
when x(0) = (_1).

Calculate the system matrix A and the state transition matrix for the system.
[20 marks]
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